AUHBEMNME R E

Shenzhen Xinghe Machinery Co., Ltd.
ot SRYIHIELX EBEE BT XIS Bk

A D D: B Building,No.9, Xiapo Road,Longtian Street,Pingshan distict,

Shenzhen City, Guangdong Province,China T518122

TEL:+86-0755-84205086 FAX:+86-0755-84205286
E-Mail: info28@xinghesz.com.cn
http://lwww _xinghesz.com.cn

XINGHE

R s

SarFrmB3R

PRODUCT CATALOGUE

HARE-FRIZE

!




z.l:m E( @ éﬂ {q: Y75 2 AL E RS ' | | R E AL B R A E] Em E‘ EE éﬂ 14:

CATALOGUE IRl | INTRODUCE
Y AF ! ey |\

” ) | ' 1 - RYHEMNAERAT, AFRIHTIUR, B—RERk. BALERNE
NI D 02 N/F ZFEERFES 17 ARENF, ABLRMOTFHEEATESHEBYEINIEANBF. A8E IRt
| . B, HESEFAB BRI EGTSRETE, WERRENERS. S
oo _ EOMBESE. MIVAIHBEENSE, RIDISEEINIE, LT SIERIEEM. FT.
Erriaidiz 03 N/A FREEMES 19 | BB, A2, S, REEEXE SRR, 22005%~F, =Rkinn
= A7, £E. BE. BART. 2E. UEHISLHRSIER, HESHS. AA8E
T— B S0E. ARBEARNNTIERATIGHAEN. BAHONSHEEZH. &

B-BK Hi /& 04 N/KMT _mERg 21 R | WMREREANTAR. —RRABBONEE, £IS058, @, ADEIT
T o p— . 1S09001. ISO14001FEMEEIRARIAIE. EXBHROHS. REACHIMMRIAIE, BE&/1T

B-BF 7 FE 05 3 76 634 AR 0 i St B o A AL AR T S o

N/AN EL%)‘gmlg. 22 1‘_ N ! ' | | ﬁﬁ]?ﬁfﬁi%?ﬁﬁﬁ\ E*_LTE‘_I"{ZK-IQ%\ Eﬁiﬁ%\ *ﬂ:%gkx 5,5\$\ ;&;§*ﬂ:$\ §ED

| . SRS, BTIRE. HRGE. HAERE. ORBESTL. E+2ENER,
B-EK k7 FE 06 N/K iAfa R i K8 & 26 F, 4 _ AEERIUTENMEME SN, MITHELE. £E. M. 2R eENeAi
NS . L LEEHE, B2 BB REERA. SRE. Bl SHENLES, M E

| SN S PRE, RERL, BERE. BANE MelRSs, EHLMLRES, R
B-EF %75 & 07 - o : \ ] REEE. BOFRTW B SE AR

R FARAIRAEABSM. BSMISEEK!

B-AK Hh7EE 08
B-AF 78 09
B-FK 373 EE 10
B-FF %73 EE 11

N/RN S I2H 12

N/R {EZE
EREZEE 13

N/R EfRZE
EREZES 15

01




03

FEaaEr= 51063 18— U Etihas. WRE, BEES R

Product manufacturing and inspection process

Take couplings, bearing blocks, and precision nuts as examples

No.l EHEREHGE ,
. Incoming Raw Material Inspection

§ BIAEFFRARA2017, AG06L.
SUS304. POM. TPUZE&IEHE
N, REEIRIEEFRRDHE
DENE, HERRMKBEMES
WSO AR S A TINEE, LA
HRESHREF ST REFER
, REFmRIREL.

Establish qualified material suppliers such as A2017, A6061, SUS304, POM

, TPU, etc.for production. After the materials incoming, they are classified
and layered according to the production demand, and used the Olympus
material analyzer to test and verify the material composition, so as to ensure
that each batch of incoming materials meets the design and customer require-
ments, and maintain the stability of quality.

= — e ——]

No.3 CNCHNIT AT

CNC machining center processing

S V| IR ERNIRRG, BRtHaHE
i AFUNACEARL. EEDMGH =
FEZR38. 4MHHN T AUCHTTCNCHE
I, shEERES~ER, WG
L iESSKEBEFEIRERE, B
FREMBTHER, LHEMBERINT

B,

After the completion of CNC lathe processing, dozens of high precision
machining centers of 3-axis and 4-axis from Japan FUNAC and Germany DMG
are used for CNC finishing. Toyota production model was introduced, and 5S
Process and electronic kanban management are strictly implemented on site to
ensure products in order and injury-free fine processing management.

Surface Treatment

AR TSR REREK
A, SEMMEE - mRE
HITRER. &R, BESLIE,
LOREIINEE. BAsE. PR,
WBRAMENIRES. BFEE
KREEROHS K REACHEK,

In order to ensure the long-term use of the processed products in the future, it
is necessary to conduct anodizing, blackening, electroplating and other treat-
ments on the product surface of various materials to achieve hardening, rust
prevention and corrosion prevention effects, ensure the stability of its perfor-
mance, and meet the European Union ROHS and REACH requirements.

Performance Testing

HNEFHETFRER, AFH
FHARTEMNANEE, xHE
TP TR, R, B
T, HepE{TEmEEE, X
HEFBERRER,

In order to better meet customer requirements, the company has inde-
pendently developed various testing instruments to comprehensively inspect
the concentricity, torque, dynamic balance and life of the assembled products
to meet customer performance requirements.

NoQ BENEEH "
*~* Packaging, warehousing and shipping
RIEZPITREER, MEEE
(BEMFLESSE) HITIRES
£, ARKENTERRIEAE
EF, URREFNEIFR,

Carry out standard packaging in strict accordance with "The Packaging
Operation Instructions" according to the customer's order requirements. The
company keeps a large inventory of standard products for years to meet the
urgent needs of customers.

No.2 BUREHEAMT

CNC turn-milling machining

HrafrHIE L MEERES
. VIRFEREMNT, BSE~H%

Dozens of Japanese imported Tsugami CNC turn-milling machines process
together with manipulators to improve production efficiency and reduce costs.
At the same time, IPQC regular inspections ensure product consistency and
yield rate.

No.4 FMamtuss .

* T Semi-finished product inspection
RERBE= . ERLEEN
EM. ZFEEM. BRNFL
BEVENIEE, BEREEINE
BHRERARTAERT S
Mets, EITFEEBIS09001Mm
N | RERGAERMEE, —REM
THRmZEIAF]98.9%,
We have advanced testing equipment such as CMM, Keanshi Image
Dimension Measurement System, Mitutoyo height gages and profile projec-
tors, etc. The inspection technicians who are qualified through skill training
conduct full inspection of tolerance dimension and appearance, and each

process is controlled according to ISO9001 quality management system,
and the yield rate of one-time processing reaches 98.9%.

i

4]
N°'6 A%ﬁmble

| EREMIEEA, A
S oE, FRER GARFLES
P ) , XPERRHTE— R

ARo

The semi-finished products shall be assembled one by one in strict accor-
dance with "the Assembly Operation Instructions" by using various fixtures
and automatic assembly equipment.

Pre-stocking inspection

N0.8 )\Eﬁ'ﬁﬁﬁ

P mBEESTRY, LOGOSEAIN
I, HHELNIINL. KE
MoMR. RILHITEN, G
mN\Eo

After product assembly and LOGO laser processing, the final appear-
ance, length, outer diameter and inner hole shall be inspected, and qual-
ified products shall be put into storage.

No.10 gﬁfgﬁipping

Mg FAREMI, HE, K7
5., EREBREREFARS
) BENERBHEARD, UE
5EEYiE), B =EMEE RO
5, HEIAAR, XE. EEH
REHER.

From design and development to processing and assembly, the company
pursues efficient customer service throughout the whole process, and always
focuses on customer satisfaction. With the shortest time, We delivers goods to
customers in Japan, the United States, Germany and around the world through
air and sea transportation.

B-BK&5! (42572

RINTHEMVMERAE

B+ RE4H

22 1T 4 74 B2

2e F B R REIE RS B2 FR wE
B-BK e 1 i B A 1
B-BKN S45C PER E s =
- 3 & 3 WA 1
B-BKG ERERE 4 IR 2
5 i 2
6 HzeRiE 1
7 AR 2
2-d1(iE7L)
2-d2(JiAL)%h 2 13
4d3
LhOus
: H
Tl 2
- %
o
%5
== LI" P2_|p3
)
p L] L
W
BB{I: mm
= ; B hl =
WM L|L1| L2 [L3| WI| H W1| H1 [P1] P |P2|P3(d3|dl| d2| h [ m|T
B3 |No| 4 £0.02| £0.02 (kgs)
10 10 | 25] 5] 29.5] 5 60 | 39 30 22 34 | 325|151 46 | 13| 6 | 55| 6.6 10.8 5 M3 | 16| 0.39
12 12 | 25| 5| 29.5| 5| 60| 43 30 25 351325118] 46 | 13| 6 | 55| 6.6 10.8] 1.5 M4 | 19| 0.41
15 15 | 27| 6 32 6 70 | 48 35 28 40 38 |18] 54| 151 6 | 55| 6.6] 11 6.5 M4 | 22| 0.57
17 17 | 351 9 44 7] 86| 64 43 39 50 55 | 28| 68| 19| 8 | 6.6 9 14 8.5 M5 | 24| 1.27
B-BK
20 20 | 35] 8 43 81| 88| 60 44 34 52| 50 |22] 70| 19] 8 |6.6] 9 14 85| M5130] 1.19
B-BKN
25| 25 |42] 12| 54 9 |106| 80 53 48 64 70 |33 8 |22)10( 9 11| 17.5]| 11 M6 | 35| 2.3
B-BKG
30| 30 |45]14]| 61 9 1128] 89 64 51 76 78 13311022311 11| 14 20 13 M6 | 40 3.32
35| 35 |50| 14| 67 | 12]140| 96 70 o2 88 79 |35]114| 26 12| 11| 14 20 13 M6 | 50| 4.33
40 40 | 61|18 76 | 15|160] 110 80 60 100| 90 (37130 33] 14| 14| 18 26 | 17.5] M8 | 50| 6.5
50 50 | 65| 15| 88 | 18|180}| 120 90 65 110| 100 (42| 150 37| 14| 14| 18 26 20 | M10| 65

& CT4R1ER (6F3K)
& CoRfER (TF3K)

& ARTENE, Hit

R TR A ) B K] 20.005-0.01mm
FREAN A TR, HmE0/E)Rs

SE T
1 =k-8

ERE.

04



22 1 4l 7% B2

RUTHEMVMERAE

R ENNAERAT [T g

1 ==
B-BFEFI (SR EE) R B.ER2L S Kt
A EIF A2 mE | MR | REQE WS | mAEH | BB
S | XfdME | RELE S Eframm | B8 SRR = 1| sEEEs 1
5.EE P 1 HREEAE 2 WK 1
2 WA = B-EKN 545C R 3 R 1
i S45¢ ki 3 CEUNIF B-EKG RRE R 4 HhIF 2
B-BFG CRIEERS 5 S 2
6 £ X920 1
7 AN AEE 1
SEWA s-er20
W1 2-d1(iE7L)
g 2-d2(JifL)Fh d=010-®30 2-d1 (@)
| Wi
1 |‘ ‘u H | | L2 L3 M\ —~——— A — L2 <
L:,,,TIJ Ll da i ) 2—d](jE?L) : @
Tan TRy N N | 2-d2 h &
= | 710 & @l e T L
T &l |l P azs) i i ' e - REELEN
o & 7 7 8 = T |
). + o -
1\{ ?C}Ir/ %Z/é% = } < T I S @ I
-<—A |
B L — —— 7
B B
: p Ll L p 1 L
W W W
EfI: mm Ef{l. mm
| L | w | H Wi |HL|PL| P|d3|dl|d2| h |caums H2S ) B | hl 58
Ty +0.02 | +0.02 (kgs) - MEl L (L1 L2 |3l W | H WL[H1|[ P |dl|d2|h|m| T
B [ No |4 & I [No| g +0.02| £0.02 (kes)
10| 8[20]e60]39] 30 | 22 | 34 |[325/ 15| 46[55|66]108] 5 | sos [ 029
4 4 15 | 55]185| 2 34 1 19 17 10 18| 7 | 26|45 - - | M3]10])0.06
12 [10[20|60] 43| 30 | 25 | 35 |[325| 18| 46 |55 6.6 [10.8] 1.5 [ s10 0.3
5 5 g5 | 58 || 18s || 28 || &5 || 2l 18 11 200 8 | 28145 - - | M3] 11| 0.08
15 (152070 48| 35 | 28 | 40 | 38| 18| 54|55|66] 12| 65| si5 | 038
7 1 171 = | 86 | ez 3 39 0 | 551 28| 6sl66!| o 12| 85 s17 074 6 6 20 | 55| 22 | 35| 42 | 25 21 13 181 2013055195111 M3} 12]0.14
B-BF 10 [ 20| 26 | 88 | 60| 44 | 34 | 52 | 50| 22|70 66| o | 14| 85| sz | o7e B-EK | 8] 8 |23 [ 7|26 4]52)32] 26 | 17 [25(/26)38|66| 11]12)M3]1410.24
N s 25 [30 (106 80| 5 | 8 |62 |70 |3 5| o | |7s] | s | 122 B-EKN|10| 10 | 24 | 6 [295( 6 | 70 [ 43| 35 | 25 |36[24]|52| 9 | - |- [M3]16)046
B-BFG
30 | 30| 32 |128] 89 64 51 76 | 78 | 33 102 11| 14 | 20 13 530 1.97 B-EKG | 12| 12 24 6 |295] 6 70 | 43 35 25 361 24152] 9 - - | M4]1 19| 0.44
35 35| 32140 96| 70 | 52 | 88 [ 79|35 |1a| 1a | 14| 20] 13| s35 | 222 15 15 | 25| 6| 36| 5|8 |4 40 | 30 [41|25]60| 12| - |-|m4]22]055
40 [ 40 [ 37 [160]| 10| 80 | 60 | 100 [ 90 |37 |130] 14| 18 | 26 | 175 sa0 | 327 201 20 | 42 | 10| 50 | 10| 9558|475 30 [56| 25|75 11| - |-|m5]30]135
50 | 50 | 37 (180 120 90 65 110 | 100 | 42 | 150 14 | 18 | 26 | 17.5 S50 4.95 251 25 48 | 121 60 | 141105 68 | 52.5 35 66| 251851 11 - - IM6] 351192
2 F3k) SRAEK B A8]FR0.005-0. AT S s =i
e i i e o o CTRIER (633%) FAHRMAMABAEFR0.005-0.01mm
* QCSf f T i j‘—f*’f » HFEOERR o CSRMER (T3%) AIEMINASTIELIE, HMEoER
St p HE, FEZERE, 3 - [ o
¢ el BFIORRSRE * BENFBNG, RLARERE
05 06



22 1 4l 7% B2

RUTHEMVMERAE

B-EFZ&5! (A7) B B4
RS FEM R REAIR RS =R e
er o= 1 WARER 1
2 P =
B-EFN S45C TR g CRIR i
B-EFG HEEEE
d=04-08 d=010-025
Wi Wi ]
) 2-d1 (&) - 2R
2-d2(JifL)%®h ! %///4/{/,////
- ° = T 1
= = = = | |
B
P P
W W
B{il: mm
Al = =
——7 iz L[ w | H B LM L lh| e |an]a2| n |cams B2
A3 | No | ¢ +0.02 | +0.02 (kgs)
4 | 3 |10[34|19] 17 | 10 | 18 | 7 2645 - | - S03 | 006
5 | 4 |10]36|21] 18 | 11 | 20 | 8 | 28 [ 45| - | - S04 | 008
6 | 6 | 124225 21 13 | 18 | 20| 30 [ 55| 95| 11 | so6 | o1
8 | 6 | 145232 26 | 17 | 25 | 26 | 38 [66| 11| 12 | sS06 | 0.16
10| 8 |20]70][4] 35 | 25 | 36 | 24| 52] 9| - - 508 | 0.35
B-EF 7022 8 [20[70[40] 35 | 22 | 36 | 21|52 9| - | - S08 | 032
B-EFN| 12 [10[ 20|70 43] 35 | 25 | 36 | 24| 52| 9 | - | - S10 | 035
BEFG [ 1223[ 10 [20 [ 70 [41] 35 | 23 | 36 [22[5 [ o] - | - S10 | 033
15 |15 20] 80 |49 | 40 | 30 | 41 | 25]60] 9 [ - | - S15 | 0.4
1526 15| 20| 80 | 45| 40 | 26 | 41 | 21|60 9 | - | - S15 | 0.38
1528 15| 20 | 80 | 47| 40 | 28 | 41 | 23|60 9 | - | - S15 | 0.39
20 | 20| 26 | 95 | 58 | 475 | 30 | 56 | 25| 75 |11 | - | - S20 | 0.65
25 | 25| 30 |105| 68 | 525 | 35 | 66 | 25| 85 | 11| - | - S25 | 0.95

07

& CTRfER (673K) HBKHAMMEERAIB0.005-0.01mm

& CS4fER (T73K) MREARMASTIELE, HMmOoERR

& AEMNFRRG, BRBEZERE,

R ENNAERAT [T g

| P |
B-AKZR5 (FFEEEM) G
BE F AR RELE ] BC i &5 e
B-AK wm 1 AR AR 1
o 2 I 1E
B-AKN S45C 55 3 P 1
B-AKG ERE R 4 IR 2
5 ShE 2
6 B LIRNE 1
7 R 2
L2 L3
1458
| | l
1 ™ 2
@? 4 - 2 _-_J_-_ _¥_ 5'1 L
o : 'o ; c'z
i 4-d168A)
7 ¥, | ‘
1 T "l AK25
IR
! [
L1 L
W
BEi: mm
A= B | hl =
il iR L | L1 2| 3f{w|H W1 | H1 E Cl| C2| dl| d2 h m T =
ggﬁ: No d +0.02 | +0.02 (kgs)
10 | 10 | 24| 6 | 30| 6 (70|43 35| 25| 36 | 35| 52 9 14| 11 | M3 | 16 | 05
1022 10 | 24| 6 | 30| 6 | 70|40 35| 22| 36 | 32 | 52 9 14 | 11 | M3 | 16 | 0.48
12 | 12| 24| 6 |30 6 (70|43 35| 25| 36 | 35 | 52 9 14| 11 | M4 | 19 | 05
B-AK 1223 12 (24| 6 | 30| 6 [ 70| 41] 35| 23 36 55 52 o 14 11 M4 19 | 0.48
B-AKN | 15 1525 6 |36 5 (80|49 40| 30| 41 | 40 | 60 L1 17 | 15 | M4 | 22 | 0.65
B-AKG | 1526 15 | 25| 6 | 36| 5 | 80| 45| 40 | 26 41 36 60 11 17 15 M4 22 | 0.61
1528 15 |1 25| 6 |36 5180|147 40 | 28 | 41 | 38 | 60 11 17 | 15 | M4 | 22 | 0.63
20 20 |42 10|50 10| 95]|58|47.5| 30 56 45 /5 22 10 11 17 15 M5 30 | 1.45
25 | 25 [ 48| 13| 60| 14|105| 68|52.5| 35| 66 | 25 | 85 | 30 9 11 M6 | 35 | 1.92
& CT4RMER (65 3k) RBIKMHAHMAERAEIF0.005-0.01mm
& C5fEH (TF3k) MRIEMHMASTELIE, HmmOoE kR
& HAEIIEEMH, HALBEZESHRE,
08



22 1 4l 7% B2

RUTHEMVMERAE

R ENNAERAT [T g

ALy = | =
B-AFZ5!] (A M) ECtERAA B-FK& %5 (E&EEEE) BofEBA4H
Be | TEME £ RS Rt &5 ¥ BE | EAMER REALE S AL+ R HE
B-AF Hm 1 AR EER(R 1 B-FK s 1 AR RE (A 1
2 i 1= sEsa 2 T 1=
B-AFN S45C it 3 — 1 S S6C - 3 WA 1
B-AFG s ®meg B-FKG REEER 4 IR 2
5 s 4
6 iSRG 1
7 AN AR 4
d=0A-08 o, d=d10-030
P o O N . 40 2T, (h) 12 13
H d1 (&) o 5
A— S o o O 5
| d2(JTfL)h S g o
! ! . I (
T - 7T T i1 ©
8 T - i i k i i I ///,';', L H'LF
- o Lo %/ —
Lo L % _
' = iE L H F L2 D A |PCD| w | dl | d2 ]| h m T 2
B L 2 [No | g g6 - (kes)
P 4 15 6 9 185 | 18 32 24 25 | 34| 65| 4 M3 10 | 0.06
W 5 5] 165 6 105 | 195 | 20 34 26 26 | 34| 65| 4 M3 11 | 007
‘ 6 | 6 | 20 7 13 5, 22 36 28 28 | 34| 65| 4 M3 12 | 0.08
J Bi: mm g8 | 8| 23 9 14 26 28 43 35 35 | 34| 65| 4 M3 14 | 015
1| =2 =
i izl Ll w]|H B [ hl wilH1l P h | cainm 58 B-FK | 10| 10| 27 10 17 | 205 | 34 52 4 4 | 45| 8 4 M3 16 | 0.25
7
B3 No d e s (kes) B-FKN| 12 | 12 | 27 10 17 29.5 36 54 44 44 4.5 8 4 M4 19 | 0.26
10 8 1207043 35| 25(|36] 35| 52 | 11 S08 0.37 B-FKG| 15| 15| 32 15 i7 36 40 63 50 520 | 55| 95| 6 M4 | 22 | o4
B-AF 12 | 10 | 20| 70|43 35| 25 |36 35| 52| 11 S10 0.37 17 | 17 | 45 22 23 47 50 7 62 61 | 66 | 11 | 10 | M5 24 | 0.85
BAEN | 15 | 15 | 20] 80| 49| 40 | 30 | 41| 40 | 60 | 11 515 0.45 20 | 20| 52 ) 30 50 57 85 70 68 | 66 | 11 | 10 | ™5 30 | 12
B-AFG | 20 | 20 1 26195 1 58 l475] 30 |56l 45 | 75 | 15 20 075 25 | 25 | 57 27 30 60 63 98 80 79 9 15| 13| me | 35 | 16
30 | 30| 62 30 32 61 75 | 117 | 95 93 | 11 | 175 15 | M6 | 40 | 238
25 25 130 ]105| 68 |52.5] 35 | 66| 25 85 - S25 0.95

& CTRIER (6F3%) FRBIKihAIME R AEA0.005-0.01mm
& CORMER (TF3%) AEMMAZLTNELE, HmEoEig
& ARENEEMHE, FAEZERE,

& CTRER (6F3k) SFATKMAM AR ABFR0.005-0.0lmm
& CoRMER (TF%) AEMMEASTIELRIE, hmoEra
& AENEBNE, RLEZERE,

09 10



22 M & 7R PR IR e RlFERNRERAT Ry s

7
B-FF&5! (EZEZEM) Acf+BAZH N/RNZL 75 H28R 6 JRNELH SRS B2 75 2 B0 R I S BB, T
— — - N/RNEL SRS B8 2 0 B B S SIS BB 55
BS | EAMR | RELE S Refrafr | S = M REE BENSESEN—ENT OREANERAAT, M LEARA
m— s 1 | wEEEne 1 i . @ SRR, AMEESREE, A REEEHEE. B RNASIEEHE
T = B3 T R AT & 1B
B-FFN S45C R 3 CRT 1
B-FFG R LR

|7 ]0.005]A L
o>
Vna
4-d1(i&@7L) ol o +-—- —|%| =
4-d2¥ 7L (Fh)
—-»S |———
ZH
] h
(a) 2,
g 9 9 ; B mm
7L o
Thread D h d m L F S | MAX.Nm
- N/RN-M4X0.5P 115 5 8 2-M2.5 3 10 0.5 0.9
N/RN-M4X0.7P 115 5 8 2-M2.5 g 10 05 0.9
L1l |2 N/RN-M5X0.5P 12.5 5 8 2-M3 3 11 0.5 0.9
IL N/RN-M5X0.8P 12.5 5 8 2-M3 3 11 05 0.9
N/RN-M6X0.75P 13.5 5 9 2-M3 3 12 0.5 0.9
B mm N/RN-M6XL.0P 13.5 5 9 2-M3 B 12 0.5 0.9
) . . N/RN-M8X0.75P 16 7 11 2-M4 4 14 0.5 0.9
T WME L[ L L2 A |P.CD| W [dl]|d2| h [cEinF[== N/RN-M8X1.0P 16 7 11 2-M4 4 14 0.5 0.9
B30 [No| 4 g6 (kgs) N/RN-M8X1.25P 16 7 11 2-M4 4 14 0.5 0.9
6| 6 |10 6| 42236 28 |28|34]|65| 4| soe |o0.08 N/RN-M9X0.75P 19 8 13 2-M4 S 16 1 0.9
N/RN-M10X1.0P 19 8 13 2-M4 5 16 1 0.9
10| 8|12 7| 5| 28|43 35 |35|34|65| 4| sos | o1 N/RN-M10X1.25P| 19 3 13 M4 5 15 1 0.9
121015 7| 8 | 34|52 42 | 42|45 8| 4| si10 |o.15 wgzmgﬁgg ;g g 12 g'm g ig 1 gg
B-FF e ‘ :
151517 9| 8 | 40| 63| 50 | 52|55[95|55| si15 |0.22 N/RN-M12X1.5P 22 8 16 2-M4 5 19 1 3.5
B-FFN N/RN-M12X1.75P 22 ) 16 2-M4 5 19 1 3.5
e 1717|2011 9|50 77| 62 | 61|66 11|65| s17 |o0.35 N/RN-MI5XL.0P o5 3 19 A : > 1 35
200201201 11| 9 |s57|85| 70 | 68|66 11|65 s20 |045 N/RN-M15X1.5P 25 8 19 2-M4 o 22 1 3.5
N/RN-M17X1.0P 29 13 21 2-M5 9 24 1 35
25| 25| 241 14| 10| 63| 98| 8 |79 9| 14]|85]| s25 |o066 N/RN-M20XL.0P 35 11 57 5°M5 7 30 1 8
30| 30| 27|18 9 | 75 |117]| 95 [ 93| 11 |175| 11| s30 [1.05 Ejmm;gﬁgg ig g g; ;mg 170 gg ; g
& CTR{FER (6F%) FABKMAMMARAIEPR0.005-0.00lmm m;gzmggggg jg gg g; gmg ij{ jg g g
& SRR (T53K) MIEMMAZTELE, M0 N/RN:M35X1.5P g0 Al T R E 50 > g
& HAREBTENY, AHEZERE N/RN-M40X1.5P 62 25 47 2-M8 18 50 7] 8

o U EBIERIESE 2ANWARATMEEMN o INM=10.2kgf.cm=0.73Ib.ft
11 o TSI 12



bR X E ] RN RUTEANHERAD RO NE g YSy

(FZ 2 5um)
= ~ \ :
N/RE! ZAEAEE (emn) =0l
e | HE = | zmeE | EeEs N/REUSH R R BB R INE L3 2 Thread D h g t d n-m |MAX.Nm
= it EHEMP EFEEGBE. BTHRENSIEZIR N/R-M42x1.5 62 14 6 25 56 3-M6 )
EZ $45C <0.005mm R C3604 g; éwi?%ﬁ%g&lzgf4tﬁpﬁ/f)3§f$§mé N/R-M45x1.5 65 14 6 2.5 59 3-M6 8
Ttk | SCM440 | <0.005mm sm P ATewRi, AE e N/R-M48x1.5 68 14 6 2.5 62 3-M6 8
i;%{i;%fﬁ' RENRRGUHSTEEEN N/R-M50x1.5 70 12 5 75 64 3-M8 18
° N/R-M52x1.5 73 16 8 3 66 3-M8 18
N/R-M55x2.0 75 16 8 3 63 3-M8 18
[FTo005]A h N/R-M56x2.0 77 16 8 3 70 3-M8 18
L N/R-M58x2.0 77 16 8 3 70 3-M8 18
EDT N/R-M60x2.0 80 16 8 3 73 3-M8 18
: N/R-M64x2.0 85 16 8 3 78 3-M8 18
: N/R-M65x2.0 85 16 8 3 78 3-M8 18
N/R-M68x2.0 92 18 8 35 84 3-M8 18
o o 4t s N/R-M70x2.0 92 18 8 35 84 3-M8 18
N/R-MT72x2.0 95 18 8 3.5 86 3-M8 18
] N/R-M75x2.0 93 18 8 35 90 3-M8 18
N/R-M76X2.0 100 18 8 7 92 3-M8 18
N/R-M80x2.0 105 18 8 4 96 3-M8 18
0,5 N/R-M85x2.0 110 18 8 4 102 3-M8 18
T N/R-M90x2.0 120 20 10 4 108 3-M8 18
EA mm N/R-M95x2.0 125 20 10 4 113 3-M8 18
N/R-M100x2.0 130 20 10 4 118 3-M8 18
Thread D h g t d n-m | MAX.Nm N/R-M105x2.0 | 140 22 1 5 125 38 18
N/R-MEX0.5 G 3 3 5 T 5 a 35 N/R-M110x2.0 145 22 12 5 132 3-M8 18
N/R-MBX0.75 16 3 3 5 11 A 3t N/R-M115x2.0 150 22 12 5 137 3-M8 18
N/R-MI0X075 13 3 3 5 K A 3z N/R-M120x2.0 155 24 12 5 142 3-M8 18
N/R-MIOXL.0 13 3 3 5 E SA 3z N/R-M125x2.0 160 24 12 5 147 3-M8 18
N/R-M12x 1.0 20 3 3 5 G oYY 3 c N/R-M130x2.0 165 24 12 5 152 3-M8 18
N/R-MI2x125] 20 3 3 5 T SA Iz N/R-M135x2.0 175 26 14 6 160 3-M10 35
N/R-M14x 15 R 3 3 5 50 SR 3z N/R-M140x2.0 180 26 14 6 165 3.M10 35
N/R-M15x 1.0 R 3 3 5 20 SMA 3L N/R-M145x2.0 190 26 14 6 175 3-M10 35
N/R-M16x1.5 78 10 4 9 73 2-M5 45 N/R-M150x2.0 195 26 14 6 180 3-M10 35
N/R-MI7xL.0 58 10 7] > 73 SME Tt N/R-M155x3.0 200 28 16 7 180 3-M10 35
N/R-M18x1.5 30 10 4 bl JUE 2-M5 4.5 N/R-M160x3.0 210 28 16 7 190 3-M10 35
N/R-M20x 1.0 3 10 7 3 5= IS Tt N/R-M165x3.0 210 28 16 i 190 3-M10 35
N/R-M20X15 7 10 7 > 7 M 1 N/R-M170x3.0 220 28 16 7 200 3-M10 35
N/R-M22x1.5 5E 10 4 p) 30 3-M5 45 N/R-M180x3.0 230 30 18 8 205 3-M12 60
N/R-M2Ax L5 38 5 z 5 = M6 3 N/R-M190x3.0 240 30 18 8 215 3-M12 60
N/R-M25x1.5 38 12 = 5 = 3-M6 g N/R-M200x3.0 250 32 18 8 225 3-M12 60
N/R-M27xL5 T ¥ z > 37 VG 3 N/R-M210x4.0 260 32 18 8 240 3-M12 60
N/R-M28x15 5 B z > 37 V6 3 N/R-M220x3.0 270 32 18 8 250 3M12 60
N/R-M30xL.0 7t P z > 70 MG 3 N/R-M220x4.0 270 32 18 8 250 3-M12 60
N/R-M30xL5 75 ) z > 70 MG 3 N/R-M230x3.0 280 34 20 9 258 3M12 60
N/R-M32x1.5 47 12 3 bl 42 3-M6 3 N/R-M240x3.0 290 34 20 9 268 3-M12 60
N/R-M33x15 ) B z 5 7c MG 3 N/R-M240x4.0 290 34 20 9 268 3-M12 60
N/R-M35x15 ) %) z > 77 MG 3 N/R-M250x3.0 295 34 20 9 278 3-M12 60
N/R-M36x1.5 to 12 5 5 & 79 MG 3 N/R-M260x3.0 310 34 20 10 288 3-M12 100
N/R-M38x1.5 3 12 5 >t ) MG 3 N/R-M260x4.0 310 34 20 10 288 3-M12 100
N/R-M39x15 = 17 5 o = MG 3 N/R-M270x4.0 320 34 22 10 208 3M14 100
N/R-MAOXL.5 T3 12 5 >t ) MG 3 N/R-M280x4.0 330 34 22 10 308 3-M14 100
= : N/R-M290x4.0 340 36 24 11 315 3M14 100
o L FHIRNESZ EMNMERABMEEMNIN o 1INM=10.2kgf.cm=0.73Ib.ft N/R-M300x4.0 350 36 2% I ag5 3M14 100
¢ AERARRIRE o FEE: M60LLT: 5um M60~M100: 10um M100~M200:20um

13 M200~M300:30pm 14



SR RI2 R Bl N rymERnmERes IR RS,
(FBAEEE 2um)

E{. mm
4 = 2 NES 5>
N/RE! REEFARE (B Thread | D h g t d | n-m |MAX.Nm
BE | & B RELE | BIESER %EENE,QE%%&%B’?\?&%Hfmﬁt%ﬁ N/R-M42x1.5 62 14 6 25 55 3-M6 8
SRR, T RENSEE e = 14 : =3 = s -
Ttk | S45C | <0.002mm P C3604 BN TR ERHERTATR, xh e : -
\ BAREREG, IMERSREE, AR N/R-M48x1.5 68 14 6 2.5 62 3-M6 8
EfE | SCM340 | <0002mm | %% alhis SAFIE. N/RESUBEHERE LI SN N/R-M50x1.5 70 14 6 25 64 3-M8 18
iy N/R-M52x1.5 73 16 8 3 66 3-M8 18
N/R-M55x2.0 75 16 8 3 68 3-M8 18
s N/R-M56x2.0 i 16 8 3 70 3-M8 18
L N/R-M58x2.0 77 16 8 3 70 3-M8 18
o] N/R-M60x2.0 80 16 8 3 73 3-M8 18
' N/R-M64x2.0 85 16 8 3 78 3-M8 18
i N/R-M65x2.0 85 16 8 3 78 3-M8 18
A N/R-M68x2.0 9 18 8 5 84 3-8 18
i i i N/R-M70x2.0 y) 18 8 35 84 3-M8 18
n N/R-M72x2.0 o5 18 8 35 86 3-M8 18
N/R-M75x2.0 98 18 8 35 90 3-M8 18
N/R-M76X2.0 100 18 8 2 p) M8 18
05| N/R-M80x2.0 105 18 8 4 96 3.M8 18
N/R-M85x2.0 110 18 8 2 102 3-M8 18
N/R-M30x2.0 120 20 10 2 108 3.M8 18
. N/R-M35x2.0 155 20 10 2 113 3-M8 18
i _mm N/R-M100x2.0 130 20 10 4 118 3-M8 18
Thread | D h g t d n-m | MAX.Nm o FEAHSEF SREEERUMLT, BRSO AHER
N/R-M6x0.5 16 8 3 ) 11 24 35 P — ~
NJR-MEX0 75 T 7 = = i o o o I1$M)ﬁf$45C*EﬂSCM440W\ﬁq’4‘j*—h WERBEHRC28~32
N/R-M10x0.75| 18 8 3 2 13 2-M4 3.5 ¢ SCM435= 8 E EIE B2
N/RMIOLO |18 g 3 2 D[ o 3.5 o HESRAE B BTSRRI S AR E
N/R-M12x1.0 20 8 3 ) 15 M4 25
N/R-M12x1.25] 20 8 3 2 15 2 M4 35 & P RMEEMEISEZROHS2.0
N/R-M14x1.5 25 8 3 ) 20 2-M4 35
N/R-M15x1.0 25 8 g 7 20 24 5
N/R-M16x1.5 28 10 4 2 23 M5 45
N/R-M17x1.0 28 10 4 7 23 M5 45
N/R-M18x1.5 30 10 4 ) 75 2-M5 45
N/R-M20x 1.0 5 10 7] 2 27 3 M5 45
N/R-M20x1.5 3 10 4 3 27 3M5 45
N/R-M22x1.5 EE 10 4 2 30 3M5 45
N/R-M24x1.5 38 7 5 ) 33 3-M6 8
N/R-M25x1.5 38 1 5 7 33 3M6 8
N/R-M27x1.5 47 10 5 2 37 3.M6 8
N/R-M28x1.5 32 W) 5 2 37 3M6 8
N/R-M30x 1.0 45 7 5 3 40 3-M6 8
N/R-M30x1.5 45 1 5 7 20 3M6 8
N/R-M32x1.5 47 W) 5 ) 5, 3M6 8
N/R-M33x1.5 52 1 5 7 45 3M6 8
N/R-M35x1.5 ) 1 5 2 47 3M6 8
N/R-M36x1.5 55 17 6 o 49 3M6 8
N/R-M38x1.5 58 12 6 25 52 3-M6 8
N/R-M39x1.5 58 17 6 5 ) 3M6 8
N/R-M40x 1.5 58 14 6 25 52 3-M6 8

15 16



SN ASE R 2 ARG RA R Rl EannERAS REPRErinE oy Aay

B{: mm
N/FE! ot R [R5 & Thread D n g " MAX N
= e — NFESERS, HAEPIESBARNERMLN, FREEL rea n-g n-m NM
- ERHmAE., SPEERHER, FTERMERALET, BEFRE N/F-M45x1.5p 65 20 59 3-6 2.5 3-M8 18
Fix S45C k2 Foo =MHIEDI R LU R BRI LB RE. N/FR N/F-M48x1.5p 70 20 64 =5 25 3-M8 18
%ﬁ%ﬂgié§%;ﬁ_’\%ﬁﬂ, 1}32*:@’1’11%;%}?&3*%}-50 N/F_MSOXlSp 70 20 64 3_6 25 3_M8 ]_8
N/F-M52x1.5p = 22 66 38 3 3-M8 18
N/F-M55x1.5p 75 22 68 38 3 3-M8 18
N/F-M55x2.0p 75 7] 68 38 3 38 18
- h N/F-M56x1.5p 75 22 68 38 3 3 M8 18
N/F-M56x2.0p 75 7 68 38 B 3 M8 18
RN 30° N/F-M60x2.0p 80 22 73 38 3 3-M8 18
N/F-M64x1.5p 85 22 78 38 3 3-M8 18
\\\\ ; N/F-M64x2.0p 85 22 78 38 3 38 18
N/F-M65x2.0p 85 22 78 38 3 3 M8 18
N/F-M68x2.0p 92 24 84 38 3.5 3 M8 18
o o —ft-—-— - = N/F-M70x2.0p 92 24 84 38 35 3-M8 18
@ N/F-M72x2.0p 94 24 86 3-8 3.5 3-M8 18
N N/F-M75x2.0p 98 24 90 38 35 38 18
\ N/F-M76x2.0p 98 24 90 38 3.5 38 18
N/F-M80x2.0p 105 24 96 38 35 3 M8 18
05 N/F-M85x2.0p 110 24 102 38 35 3M8 18
‘ N/F-M90x2.0p 120 26 108 6-10 4 3-M8 18
BE{iI: mm N/F-M95x2.0p 125 26 113 6-10 4 3-M8 18
N/F-M100x2.0p 130 26 118 6-10 4 38 18
Thread D h d n-g t n-m MAX.Nm N/F-M105x2.0p 140 28 125 6-10 4 3-M10 35
NI ML 2] 50 = = = ) > e G N/F-M110x2.0p 145 28 &R 6-10 4 3M10 35
N/EMLELEp | 30 14 25 4 ) EHIG a5 RN M 5 ORI S LT o
“M120x2.0p 3 -
Eﬁmgﬁgg 38 ﬂ ;g 3:2 § i:mg ::g N/F-M125x2.0p 160 30 147 6-12 5 3-M10 35
T = T = — = — = N/F-M130x2.0p 165 30 152 612 5 3M10 35
T = = = - = e - N/F-M135x2.0p 175 37 160 612 5 3M10 35
T - - - - ; T r N/F-M140x2.0p 180 7] 165 F) 5 3M10 35
RS — = = — . e = N/F-M145x2.0p 190 32 175 6-12 5 3-M10 35
: N/F-M150x2.0p 195 22 180 612 5 3M10 35
HiEM22lap i L < S z il B N/F-M155x3.0p 200 34 180 6-14 6 3M10 35
N/F-M24x1.5p i L s o - Sl - N/F-M160x3.0p 710 3 190 614 6 3M10 35
h/F-M25x1.5p = L e ke 2 2-M& B N/F-M165x3.0p 210 34 190 6-14 6 3M10 35
N/F-M27x1.5p 20 L £ S - Shie 8 N/F-M170x3.0p 220 34 200 6-14 6 3M10 G
N/F-M28x1.5p £ - e = 2 Sl e N/F-M180x3.0p 230 36 205 516 7 3M12 60
N/F-M30x1.5p 45 18 40 =9 2 3-Mé6 8 N/F-M190x3.0p 240 36 215 6-16 7 3M12 60
N/F-M33x1.5p 50 18 45 35 2 3-M6 8 N/F-M200x3.0p 250 38 225 616 7 3IM12 60
N/F-M35x1.5p 22 18 adl e 2 3-M8 18 N/F-M210x3.0P 260 ER) 245 T 7 3IMD2 60
N/F-M36x1.5p o2 18 dl 35 2 3-M8 18 N/ F-M220x3.0P 270 38 255 6-16 7 3IML2 60
N/F-M39x1.5p 58 20 52 3-6 2.5 3-M8 18 N/ F-M230x3.0P 280 40 258 6-16 9 3IML2 60
N/F-M40x1.5p 58 20 52 3-6 2.5 3-M8 18 N/ F-M240x3.0P 290 40 268 6-16 9 3M12 60
N/F-M42x1.5p 62 20 6 36 2.5 3-M8 18 N/ F-M250x3.0P 300 40 278 6-16 9 3IM12 60
o W SRS E BRAAERASIBEE RN N/F-M260x4.0P | 310 40 288 620 10 314 100
~ _ N/ F-M270x4.0P 320 40 298 620 10 3IM14 100
¢ INM=10.2kgf.cm=0.73Ib.ft N/ F-M280x4.0P 330 40 308 6-20 10 3IM14 100
& o[ EFIIEITIRE N/ F-M290x4.0P 340 42 315 6-22 11 3M14 100
N/ F-M300x4.0P 320 42 325 6:22 11 3 M4 100

o DI EHEESE ENTMERATHHBEE N
& 1NM=10.2kgf.cm=0.73Ib.ft

¢ FIEHIFIRIRE

17 18



el L2 8 B el re RUFERNAERAR A S

N/AZY TF R R IR &} B mm

A= g = NARSRRE, H=SEHRDRIDT, HRESTHPEE Thread D h g t d n-m | MAX.Nm
: WENEARE, SRTEEFASE IR, ToAEmEENE e — — = — = — -
ES0 $45C P2 RFERHRERNERT. ATHSARTRTR, FRBGHLE / il :
B, BMERZE, HATURSRBIEE, WyRsMABHLSP il 2 6 2 &4 2N :
N/A-M50x1.5p 70 20 6 25 64 3-M6 3
N/A-M50x2.0p 70 20 6 25 64 3-M6 3
N/A-M52x1.5p 73 99 8 3 66 3-M6 3
N/A-M55x2.0p 75 22 8 2 68 3-M6 3
N/A-M56x2.0p 75 22 8 3 68 3-M6 3
N/A-M60x2.0p 80 22 8 3 73 3-M6 3
N/A-M64x2.0p 85 22 8 3 78 3-M6 3
h N/A-M65x2.0p 85 22 8 3 78 3-M6 8
o N/A-M68x2.0p 92 24 8 3.5 84 3-M8 18
3 N/A-MT70x2.0p 92 24 8 35 84 3-M8 18
o= N/A-MT72x2.0p 94 24 8 3.5 86 3-M8 18
a3 | N/A-M75x2.0p 98 24 8 35 50 3-M8 18
A N/A-M76x2.0p 98 24 8 3.5 90 3-M8 18
o o i1 =

N/A-M80x2.0p 105 24 8 35 9% 3-M8 18
@ N/A-M85x2.0p 110 24 8 3.5 102 3-M8 18
N/A-M90x2.0p 120 26 10 7] 108 3-M8 18
N/A-M95x2.0p 125 26 10 4 113 3-M8 18
o N/A-M100x2.0p 130 26 10 7] 118 3-M8 18
N/A-M105x2.0p 140 28 12 5 125 3-M8 18
. N/A-M110x2.0p 145 28 1 5 152 3-M8 18
Bfi: mm N/A-M115x2.0p 150 28 12 5 137 3-M8 18
Thread D h g t d n-m | MAX.Nm N/A-M120x2.0p 155 30 1 5 142 3-M8 18
N/A-M125x2.0p 160 30 12 5 147 3-M8 18
N/A-M12x1.0p 30 14 = ‘ 25 2-M4 3.5 N/A-M130x2.0p 165 30 i) 5 152 3-M8 18
N/A-M14x1.5p 30 14 : 2 25 2-M4 3.5 N/A-M135x2.0p 175 32 14 6 160 3-M10 35
N/A-M15x1.0p 30 14 4 2 25 2-M4 3.5 N/A-M140x2.0p 180 = 14 6 165 3-M10 35
e s 20 L £ - . Sl i N/A-M145x2.0p 190 7 14 6 175 3-M10 35
Sl Op 2 = = 2 LI Zal e N/A-M150x2.0p 195 & 12 6 180 3M10 35
mfﬁjm;giigg gz 12 j ; ;; z:mj ig N/A-M155x3.0p 200 34 16 7 180 3-M10 35
T = = . = = S = N/A-M160x3.0p 210 34 16 7 190 3-M10 35
SR METRL 5D — T - ; = e = N/A-M165x3.0p 210 34 16 7 190 3M10 35
T =~ = = : = — - N/A-M170x3.0p 220 34 16 7 200 3-M10 35
A M2 5 = = = ; = i == N/A-M180x3.0p 230 36 18 8 205 3IM12 60
NANZH 5D 70 R z > = v 7 N/A-M190x3.0p 240 36 18 8 215 3IM12 60
N/AM3OXL 5p e o = A " xT ¥ N/A-M200x3.0p 250 38 18 8 225 3M12 60
/A M33xL5p = T = 7 T = = N/A-M210X3.0P 260 38 18 8 240 3-M12 60
N/A M35¢1.5p e 5 z . r T 5 N/ A-M220X3.0P 270 40 18 8 250 3M12 60
N/AM36xL.5p = T 5 5 T ST 5 N/ A-M230X3.0P 230 40 20 9 258 3-M12 35
N/AM39xL5p = 0 . e = e . N/ A-M240X3.0P 290 40 20 9 268 3M12 85
NJAMAOYL 5p = = = o =5 T = N/ A-M250X3.0P 300 40 22 9 278 3-M12 35
N/AMAZXL P & o 5 T oo e . N/ A-M260X4.0P 310 40 2 10 288 3M14 100
N/ A-M280X4.0P 330 42 5] 10 308 3-M14 100
¢ Ll EEUREESZE EMVMEIR A RB 1B N/A-M300X4.0P 350 42 24 11 325 3-M14 100

L o U ESIERESE BNIHERATMEERR

e ¢ 1INM=10.2kgf.cm=0.73Ib.ft

¢ FEHIFITIRE

19 20



B2 RI2E Bl wlmEANnERAD BTk AN

~ | l‘ﬂz\ P I
N/KMTEL 1nEE & N/ANZY E @i KA S
S ck on ! IR LRI =30 REs = N/ANBURFLEME R, NBENXMGHEmENMNT, AIRRHEEEE
. N | HEHEIONKMTRRIES, HARE S B2 30ERA =] MR KA \ ; ;
ES MR RELE | ot s R aE, L EESHE, FARIE ER,
Fk $45C zE2 A, BIEFEERH. = EEHEEET A LURR S EERE N/AN S45C %
WEBHORE. NKMTREHERSRESEH, NATUR NJAN S45C s@
i RARE RS, h
t = ‘
+ JHT3-
‘ |7
> 77
B{i: mm
Thread D h g t d
Thread di|{ D| d|d2]| h g i M | n-m | MAX.Nm N/AN-M10x0.75p 18 4 3 7 13.5
N/KMT0-M10X0.75P 21 28 23 (i 14 4 2 24 3-M5 4.5 N/AN-M12x1.0p 2 4 3 2 17
N/KMT1-M12X1 .0P 23 30 25 13 14 4 2 ] 3-M5 45 N/AN-M15xL.0p 55 c 4 5 21
N/KMT2-M15X1 .0P 26 33 28 16 16 4 2 30 3-M5 4.5
N/KMT3-M17X1 .0P 29 37 33 18 18 5 2 34 | 3-M6 8 N/AN-M17x1.0p 28 > 4 2 22
N/ KMT4-M20X1 .0P 32 40 35 21 18 5 2 36 3-M6 8 N/AN-M20x1.0p 32 6 4 2 26
N/KMT5-M25X1.5P 36 44 39 2 20 5 2 41 3-M6 3 N/AN-M25x1.5p = > = > =
N/KMT6-M30X1.5P 41 49 44 32 20 5 2 46 3-M6 8
N/KMT7-M35X1.5P 46 54 49 38 22 5 2 50 3-M6 8 N/AN-M30x1.5p 45 7 5 2 38
N/KMT8-M40X1.5P 54 65 59 42 22 6 2.5 60 3-M8 8 N/AN-M35x1.5p (=59) 8 5 ) 44
N/KMT9-M45X1.5P 60 70 64 48 22 6 2.5 65 3-M8 8
N/KMT10-M50X1.5P 64 75 68 52 25 7 3 70 3-M8 8 N/AN-HAD 2p 24 2 g 2.3 50
N/KMT11-M55X2.0P 74 85 78 58 25 7 3 80 3-M8 18 N/AN-M45x1.5p 65 10 6 2.5 56
N/KMT12-M60X2.0P 78 90 82 62 26 8 3.5 85 3-M8 18 N/AN-M50x1.5p 70 11 6 2.5 61
N/KMT13-M65X2.0P 83 95 87 68 28 8 35 90 3-M8 18
N/KMT14-M70X2.0P 88 | 100 | 92 72 28 8 35 95 3-M8 18 f AN MBsx2 Op £ L i 2 &1
N/KMT15-M75X2.0P 93 | 105 | o7 77 28 8 35 | 100 | 3-M8 18 N/AN-M60x2.0p 80 11 7 3 73
N/KMT16-M80X2.0P 98 | 110 | 100 | 83 32 8 4 - 3-M8 18 . X — _ _
L " 78 E5 INM=10.2kgf.cm=0.73Ib.ft
N/KMT17-M85X2.0P 107 | 120 | 110 | 88 32 10 4 z 3-M10 35 b ’Lfﬁjﬁ%{ 5 EINHERARAGEAN o g
N/KMT18-M90X2.0P 112 | 125 | 115 | 93 32 10 4 — | 3-M10 35 & O] EFIIESR RS
N/KMT19-M95X2.0P 117 | 130 | 120 | 98 32 10 4 = 3-M10 35
N/KMT20-M100X2.0P | 122 | 135 [ 125 [ 103 | 32 10 4 - 3-M10 35
N/KMT22-M110X2.0P | 132 | 145 | 134 | 112 | 32 10 4 - 3-M10 35
N/KMT24-M120X2.0P | 142 | 155 | 144 [ 122 | 32 10 4 - 3-M10 35
N/KMT26-M130X2.0P | 152 | 165 | 154 | 132 | 32 12 5 . 3-M10 35
N/KMT28-M140X2.0P | 162 | 175 | 164 [ 142 | 32 14 5 - 3-M10 35
N/KMT30-M150X2.0P | 172 | 185 | 174 | 152 | 32 14 5 z 3-M10 35
N/KMT32-M160X3.0P | 182 | 195 | 184 [ 162 | 32 14 5 - 3-M10 35
N/KMT34-M170x3.0p | 192 | 205 [ 192 [ 172 | 32 14 5 = 3-M10 35
N/KMT36-M180X3.0Pp | 202 | 215 | 204 [ 182 | 32 16 5 - 3-M10 35
N/KMT38-M190X3.0P | 212 | 225 | 214 | 192 | 32 16 5 - 3-M10 35
N/KMT40-M200X3.0P | 222 | 235 | 224 | 202 | 32 18 5 - 3-M10 35

¢ U EERESE ENNMBRASMAEENIMN o INM=10.2kgf.cm=0.73Ib.ft
® A EFIIFATIR D

21 22



RN EMVLME R AE

SRS S

N/ANE! BB EH R I8 -
= = s VANBIESSEHES, MESTEERNIT, THEMEE
ESVN SUS304 T h
t |
—
BR
| | ®
—uz
D
BE{iI: mm
Thread D h g t d
N/AN-M10x0.75p 18 4 3 2 135
N/AN-M12x1.0p 22 4 3 2 17
N/AN-M15x1.0p 25 5 4 2 21
N/AN-M17x1.0p 28 5 4 2 22
N/AN-M20x1.0p 32 6 4 2 26
N/AN-M25x1.5p 38 ir 5 2 32
N/AN-M30x1.5p 45 T 5 2 38
N/AN-M35x1.5p 52 8 5 2 44
N/AN-M40x1.5p 58 9 6 2.5 50
N/AN-M45x1.5p 65 10 6 25 56
N/AN-M50x1.5p 70 11 6 2.5 61
N/AN-M55x2.0p 5 11 I 3 67
N/AN-M60x2.0p 80 11 1 3 73

AN A Sl T 2GR AR
N/ANZ! EEE1 LR B ()
me = RERE | ARESHORE, NELARERNNT, THREEHE
FE S45C T
FK S45C KE
/] spcc EEH h
|
T L
T — i—-— S| o
| | ®
i
30°
EfI: mm
Thread D h g t d
N/AN-M10x0.75p 18 4 3 2 13.5
N/AN-M12x1.0p 22 4 3 2 17
N/AN-M15x1.0p 25 5 4 2 21
N/AN-M17x1.0p 28 5 4 2 22
N/AN-M20x1.0p 32 6 4 2 26
N/AN-M25x1.5p 38 i 5 2 32
N/AN-M30x1.5p 45 i€ 5 2 38
N/AN-M35x1.5p 59, 8 5 2 44
N/AN-M40x1.5p 58 9 6 2.5 50
N/AN-M45x1.5p 65 10 6 215 56
N/AN-M50x1.5p 70 11 6 2.5 61
N/AN-M55x2.0p 5 11 il 3 67
N/AN-M60x2.0p 80 11 7 3 73

23

* Ll EHERRES

¢ AERIFFIREE

Z EMNMERATIABENN & INM=10.2kgf.cm=0.731b.ft

¢ LI EBURNIES
¢ FERIIFITIRE

Z EMNHERASREESN & INM=10.2kgf.cm=0.73Ib.ft

24



RUTHEMVMERAE AYNTHEMHMERAE

G S A/ = ++ o Ve S
N/ANZY @5 SRS (rm) N/KE! M miE4s S BRI IEE)
= N/ANBUZ B4y fEe, NBNFMBREmRNINT, JHRFEREERE = N/KES X2 R, XEZFaREN TR EE, FESR
BS MR RELE | ) BS MR RERE | ot e e, Do B Ittt 1 Ot bR
e SUS304 x EE 545¢ %2 EERSNHAREEE, ERFIAFEES. Sk BE5
aE = = h HENNIFE, NKEHEBENENHENRIARNNEES.
Lt | h
— i
ﬁ o —f— L S [a) —[
} n Dd—f—{1--C
m\ T // L
‘ i nod
o 0,5
e = & ‘
B{iI: mm B{i. mm
Thread D h g t d Thread D h d | nmxl]| C n b | MAX.Nm
N/ K-M18xL.5p 38 18 34 | 4-M4x12 28 4 4 3.5
N/AN-M10x0.75p 18 4 3 2 13.5 N/K-M20x1.0p | 40 18 36 | 4Mdxiz | 30 7] 4 25
N/AN-M12x1.0p 2 4 3 2 17 N/ K-M20x1.5p 40 18 36 | 4-Mdx12 30 4 4 3.5
N/AN-M15xL.0p 35 5 i 5 = N/ K-M22x1.5p Iy 18 38 | 4-Mdx12 32 ] 4 35
N/ K-M24x1.5p 44 18 41 | 4-Mdx12 34 4 4 35
N/AN-M17x1.0p 28 5 4 - - N/KM25x1.5p | 45 20 41 | 4-Maxi4 | 35 4 5 35
N/AN-M20x1.0p 32 6 4 2 26 N/ K-M26x1.5p 45 20 41 | 4-Mdx14 35 4 5 3.5
N/ANM25xL5p e = - > = N/ K-M27x1.5p 46 20 43 | 4-Mdx14 37 4 5 3.5
N/ K-M28x1.5p 46 20 43 | 4-Mdx14 37 4 5 3.5
N/AN-M30x1.5p 45 7 > 2 38 N/ K-M30x1.5p 48 20 45 4-M4x14 39 4 5 35
N/AN-M35x1.5p 52 8 5 2 44 N/ K-M32xL.5p 50 22 47 | 4-Mdx14 41 4 5 3.5
N/AN MA0XL5p 5 5 : s = N/ K-M33xL.5p 50 22 47 | 4-M4x16 41 ] 5 3.5
N/ K-M35x1.5p 53 22 50 | 4-Mdxl6 44 4 5 35
N/AN-M45x1.5p 65 10 6 2.5 56 N/ K-M36x1.5p 53 22 50 4-M4x16 44 4 5 3.5
N/AN-M50x1.5p 70 11 6 2.5 61 N/ K-M38x1.5p 56 22 53 4-M4x16 47 4 5 3.5
N/ K-M39xL.5p 56 22 53 | 4-Mdxi6 47 Z 5 35
b b = AL ! 2 il N/K-M40x15p | 58 22 55 | 4-Madxi6 | 49 4 5 35
N/AN-M60x2.0p 80 11 7 3 73 N/ K-M42x1.5p 60 22 57 4-M4x16 51 4 5 3.5
3 PN B NS s - _ N/ K-M45x1.5p 68 22 63 | 6-M4xl6 57 6 6 3.5
. LA£¥Q$E1¥{,\9%,E$D$}lffﬁtﬁl3EAE%ﬁﬁ§EﬂSZ & 1NM=10.2kgf.cm=0.73Ib.ft TR = = R T = : = -
& T EHIFARIR R N/ K-M50x2.0p 70 25 66 6-M4x18 60 6 6 3.5
N/ K-M52x2.0p 72 25 68 | 6-M4x18 62 6 6 3.5
N/ K-M55x1.5p 75 25 71 6-M4x18 65 6 6 3.5
N/ K-M55x2.0p 75 25 7l 6-M4x18 65 6 3 45
N/ K-M56x1.5p 82 26 77 | 6-M5x18 70 6 6 4.5
N/K-M56x2.0p | 82 26 77 | 6-M5x18 70 6 6 45
N/ K-M58xL1.5p 32 26 77 | 6-M5x18 70 6 6 4.5
N/ K-M60xL.5p 84 26 79 | 6-M5x18 72 6 6 4.5
N/ K-M60x2.0p 34 26 79 | 6-M5x18 72 6 6 45
N/ K-M62x1.5p 36 28 82 | 6-M5x20 75 6 6 45
N/ K-M64x1.5p 36 28 82 | 6-M5x20 75 6 6 4.5
N/ K-M64x2.0p 36 28 82 | 6-M5x20 75 6 6 45
N/ K-M65XL.5p 38 28 84 | 6-M5x20 77 6 6 4.5
N/ K-M65x2.0p 38 28 84 | 6-M5x20 77 6 6 4.5
N/ K-M68x1.5p 93 28 89 | 6-M5x20 80 6 7 45
N/ K-M68x2.0p 93 28 89 | 6-M5x20 80 6 7 4.5
N/ K-M70xL.5p 95 28 89 | 6-M5x20 82 6 7 4.5
N/ K-M70x2.0p 95 28 89 | 6-M5x20 32 6 7 45

25 26



